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Instructions to Pupils:

Do not open this booklet uniil you are told to do so.

Follow all instructions carefully.

This paper consists of 3 paris, Sections A, Band C.

For questions 1 to 20 in Section A, shade the correct ovais on the Optical
Answer Sheef {(OAS),

ANSWER ALL THE QUESTIONS.

a9 hAuN~

Mavdmum . Marks Obtained

Section A 40

Section B 40

Section C Z20

Total 100

* This paper consisis of 18 pages altogether.

This paper is not to be repreduced in part or whole without the permission of the
Frincipal.
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Section A {40 marks) -

For questions 1 to 20, fotir options are given, One of them is the correct answer.
Make your choics {1, 2, 3 or 4). Shade the comectovals (1, 2, 3 or 4} onto the
Optical Answer Sheet prov;ded Each quesﬁon cariés 2 marks.

1. Mr Hassan wrole a cheque to pay for arvai-conditioning-unit that he
bought at an electrical shop. The cheque is as shown below.

‘//4(1&13(1 Bank : ©° DATE: 030512

raY : FAMILY EIECTRICAL COMPANY

DOLLARS - TWO THOUSAND AND FORTY-NINE only

| ChequeNo. BramchNe. m}

OO0 11121

What was the cost of ﬂ}e.'aipconditioning unit in figures?

(1) § 249

(2) $ 2049
(3)$2094
{4) $ 2 409

2. There are 2 500 satay sticks that have been tied in sets of 100 each. How
many seis of satay sticks are there?

(1 s
2 25
(3) 250
@) 2500



3 The number cards below have been placed to form two different number
- patterns. ' '

L2 J(1194]) (2194 )

Which one of the following niumbers shotild be plated to complete the
number patterns?

(1)
(2}
(8)
)

194
284
994
1084

4. Tx6=

1)
2
(3)
&)/

13
36
42
48

5. Carton A has 1 909 cherries..Carton B has 10 cherries fewer than
Carton A. How many cherries are there altogether?

{1}
(2
3
(4)

1899
1919
3808
3828




The difference between two numbers is 286. The smaller number is 307.

What is the surn of the Two humbers?

(1)
(2)
(3)
“)

21 -
328
593
800

Kelly bought 6 packets of st}ckers Each packet contams 9 stickers.
How many shckers does Kelly have altogether?

(1.

2
&)
(4}

15
45
48
54

‘There are 35 pupils in a class. The feacher wants the pupils to form
groups of 5. How many groups will there be in the class?

0
@
3
&

5

7

30 .
40

" Alan baked 58 cookies and packed them equally into 8 packels.
How many cookies were there in each packel?

{
@)
3
Q]

48

a3



Refer to the advertisement shown below to answer Question 10 and 11.

10.

11.

Wardrobe )
$ 956

2-seater sofa
$:2 386

iMrs Tan bought the wardrobe and the 2-seater sofa as shown i in the
above adverfisement. How mich did she pay in all?

(1) $1430
2) $2044
(@) $3342
(4) $4430

Mrs Thomas bought the same wardrobe and the arm chair as shown in
the above advertisement. How much fess did Mrs Thomas pay than Mrs
Tan?

(1) $2044
) $1208
(3) $3474
4) $5386
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3.

14.

15.

“Laicy plackd all her stampis i 6 alEUH

3+3+3+3+8= _ x4, .
( 5

2y 20

3 3

(4 4

the.albifhs: Shgwas giveiiai addifionalof 18- stamps by hermcthef

(1)34

(2) 558
(3) 576
(4) 504

Mrs Lee had 78 sweéts. She gave her pupils 4 sweets each. How many
sweets had she left? ' '

n o

2y 2

(3 s ]
4) 19

Peter had 54 pencils. John had 7 times as many pencils as Peter. How
many more peneils did John have than Peter?

() @1

2y 324

{3) 378 _
4) 432

s



'3% is. equivalent to

{1
e
(3)

(4)

wlid i AN p e

Express % in its simplest form.

O

@ 3 - .

@ < ’
@

Which one of the following fractions is smaller than é—?

W 2
@ g-
@ =
@ =




18.

20.

|“ ¥
el

The figure above is made up of 8 squares of the same size.
What fraction of the figure is shaded?

m. 2
@ 3
@ 2
@

Jenny bought a packet of flour. She used % of the flour to make a cake

and another %of the flour to make muffins. What fraction of the fiour was

not used?
I
(1 ;
1
@ 3 :
2
(3} 3
5
@ =

G
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Section B (40 marks)

For questions 21 to 40, show your workmg clearly in-the space below-each
question and write your answer in the answer boxes provided. Give your
answers in the units.stated. Each question carries 2 marks.

21. Wit the total value of 2 thousands, 5 hundreds and 7 ories In figures.

22.  Amy, Bala, Cheryl and Daniel had different number of stamps in their
stamp books. The table below shows the number of stamps they had.

- [ Wame Number of stamps
Amy ] 1268
Bala 1862
Chenyl 1286
Daniel 1682

Arrange-the number of stamps the four pupils had in order. Begin with the
greatest number

Greatest

23.  Form the smallest 4-digit even number using all the following digits.

8 5 0 7




—

24 What are the missing numbers represented by Aand B?

-
—_— -

25.  David had some marbles and he packed them into 8 boxes. He put 4.
marbles into each box and had 3 marbles left. How many. marbles did he

have at first?

26. The shapes below represent different nuinbers.

*..m
e
<

7

What is fhe value of *

Qs
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27.  Whatis the remainder when 758 is di\;r_idéﬂ by 57

28. There were 6 packets'of cobkies. In each}:ac_ket, there were 218 coolies.
How many cookies were there altogether?

29.  Don has 6 coins. Tom has 4 limes as many coins as Don.
How many coins do they have altogether?

10




- -
£

30. Seanis 27 years  younger than his mother. His father is 6 years dlder
fhan his mother. His mother is 49 yéars old. What js thelr total age?

31. Complete the number pattem by finding oyt what C and D are.

128 /
b 321
D |64 X C |64 .
8 -
32
G:
B )

32. Amange the following fractions in order. Begin with the smallest.

.

Smallest

It

-3



Give your answer in its simplest form. )

The circle belbvﬁr is divided inio eQual paris. Shade % ofit.

s L2
6 12
The miséing number in the’ is

iz
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36. Afiand Bala bought a pizza. Ali ate -}; of the pizza and Bala ate —38—01‘ the

37.

P

38.

pizza. What fraction of the pizza did they eat alfégethei?

A box of pencils cost $2and a box of markers cost $6. Sean spent $184

on the same number of boxes of pencils and markers, how many boxes of
markers did he buy? | -

The schoot canteen had 7 rows of tables. There were 58 seats in each
cow of tables. How many seats would the canteen be short of when there

were 500 pupils in fhe canteen?

13

to3



Below are thé admission charges for the National Science Genfre.

Venue I Aduit " Child

Nafional Sclence Cenfre $9 $5

i

The community centre paid a total of $409 for 17 children and sorme
adults for a visit fo the National Science Centre. How many adulis werit
for the visit?

John read ":" of a book en Monday. He then read :_I,’-of the book on
Tuesday. He completed reading the rest of the book on Wednesday.

What fraction of the book did he read on Wednesday?

14
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Section C (20 marks)
For questions 41 fo 45, show your working clearly In thé space below each
question and write your answers in the blanks provided.” The marks for each
question or part question are given in the brackets.

41, Sii eams $6 for every hour thatshe works.
She works for 7 hours-every day.
' S_i_'aé works for 5 days in a weelc
‘How much will she-eam in-a-week?

-

Answer : (4 m)

15

voS
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42. There were some blue green and yellow sﬁcké in a box.
There were 647 blue sﬁcks more than g;een stlcks
There were 1 65 yellow sucks fewer than blue sficks.
How many sticks are there in the box alfogether when there were 2 703

green sticks?

Answer : : _ (4m)

16




k-

Mary started on her jigsaw puzzle.

On the first day, she p!aced 20 ﬁgsaw pieoes in the correct posatrons

On the subsequent days, she ahvays ‘placed- 8 p;eoes more than the
previous day in the correct positions.’ :

How rhany jigsaw pieces would she have placed correctly in 5 days?

Answer: (4 m)

17

1ol



44. . Mrs Koh had some stickers for 8 children who were at a birthday party. )
When she gave 37 stickers to each of them, she wou]d have 7 stickersa
left. i .
(a)-How many siickers did she-have atirst?:
(b) How many more stickers woitld she. need when 2 more childreri joiried
the party?

Answer: (a)_ {2m)

(b) (2m) .

18
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In a scrabble oompehnon Vﬁlﬁam scored 6 times as many points as Eric.
Eric scored 14 Points more than Bobby.
How many points did Bobby .score when they scored 602 points

altogether?

Answer: ' (4 m}

~END OF PAPER~
Have you checked your work thoroughly?

19

o9






ANSWER SHEET

-

EXAM PAPER 2012
SCHOOL : ROSYTH PRIMARY SCHOOL
SUBJECT: PRIMARY 3 - MATHEMATICS .

TERM : SA1l

SECTION A

01203/ 04] Q51 Q6[ Q7] @8] Q9Qio][Qi1]Qi2[Q13]Q14[Q15] QL6
21 21131 3|alal2[2|3 211421213

Q17 | 018019 [ Q20
114 2

SECTIONB

21, 2507 -
22. 1862, 1682, 286, 1268
23. 5078

24. A:5 B:il

25. 35

26. 34

27.3

28. 1308 N

29. 30

30. 126

31.C: 16 D: 256

32. Va, ¥, 7/8

33. %2

34.

35. 10
36. 5/8
37.23
38.94
39.36
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SECTION.C

41.6 X7 =42
42x5 =210

Siti earns $210 a week,
647

42. G 2703 r——%
B
y Hﬂ

165

2703 + 647 = 3350
3350 — 165 = 3185 -
2703 + 3350 + 3185 = 9238
There are 9238 sticks in the box altogether.

43. 1% day: 20
2" day: 20 + 8 = 28
3% day: 28 +8 =136
4™ day: 36 + 8 = 44
5" day: 44 + 8 = 52

20 + 28 + 36 + 44 + 52 = 180

44.a)37 x 8 = 296
296 + 7 = 303
. ..She has 303 stickers at first.

b) 37 x 10 = 370
370—-303 =67
She would need 67 more stickers.

45.14x7 =98
602 — 98 = 504
504 -8 =63
Bebby scored 63 points.
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